@@ www.gofastbits.com.au

= EREhr s

Instructions for GFB Short Shift Basic Kit for STi 6 speed transmission

Included in kit: e 1 x4mm hex key
e 1 xcable/zip tie

. 1 x gearstick % Required tools:

e 2 x12mm spanner/wrench
e Medium flat-blade and Phillips screwdriver

e 1 x pin remover, including: *  Side cutters/knife

2 % M5 slot screws ! . C?rclip pliers (or pointy needle-nose pliers
will suffice)
* Rag

GFB Short Shift Kits carry a lifetime warranty whic h covers faulty components or manufacturing. Warraty is limited only to the
repair or replacement of GFB products provided theyare used as intended and in accordance with all apopriate warnings and
limitations. No other warranty is expressed or imfied.

We HIGHLY recommend you read through the instructions and familiarise yourself with the steps
before starting installation of this product.

1. Lift the lid of the centre console between the Segis :
above the handbrake. On the plastic handbrakeidh ngure 1
there are two slots, using the flat-blade screvedtri
padded with a rag, carefully lever the shroud up
each side (there is a pop-type fastener on eaeh sid

2. Lift the handbrake shroud out (taking care of wgri
still attached), to give you access to the geds
surround (figure 2).

3. Unscrew the gear knob and unclip the button faste
on the leather shift boot. Gently lift the plast® = -
gearstick shroud up from the back, it is only llgldipped in and does not need much force.

Figure 2

Lift cover
from here




@ﬁ; www.gofastbits.com.au

COlE ST RIT S

4. Slide the pin remover onto the top of the gearstiitg. 4). gure 4 o
Thread the longer of the M5 slot screws into thredaded hole o
the pin remover, making sure to line up the enthisf screw with
the roll pin as shown in figure 5. Watch the psmyau wind the
screw in, it should push easily out the other fdg 6). If not,

stop and check the screw is properly aligned wighgin. °f
Figure 5 gure 6 =
Pin remover
/ Pin remover
screw ;

5. Once the pin comes out completely, remove the semeavpin remover. The reverse lock cable will
spring down at this point; don’t worry, it will betrieved during re-assembly.

6. Cut the cable tie that holds the reverse lock 7. Use the circlip (or needle-nose) pliers to

cable to the gearstick (fig. 7). Using the two remove the circlip retaining the gearstick ball
12mm spanners, remove the bolt that holds the cup (fig. 9). Pull up on the gearstick as you
linkage to the gearstick (fig. 8). close the circlip, it should lift out once the
’ circlip clears its groove. Pull the reverse lock
cable out of the gearstick as you lift it out.

B o \ [%
~ %3 ‘A

Y

)

L -

e

| o 5
SRR S —

Figure 9

8. Transfer the ball cup and circlip to the GFB geeks{the ball cup
spreads apart easily to allow this), making suezeths sufficient
grease in the cup. Remove the silver plastic lcotar (undo 2
phillips head screws from underneath), reverser)esfing, and
rubber spring seat from the factory gearstick anthém onto the
GFB gearstick (fig. 10). Slip the factory steetesle into the
bushings in the GFB gearstick, again ensuring tiefficient
grease on both parts.

9. Replace the assembled GFB gearstick back into #Hutorfy
position, and fasten it in place with the circlip.



@@ www.gofastbits.com.au

GOoOlFAS LHBILITS

10. At this point it is necessary to lock the reversble in an extended position in order to be able to
replace the roll pin. To do this, pull on the cabatel simultaneously twist the linkage clockwisesrth
pull it back to select reverse gear. You may needary the distance you extend the cable to prgperl
select reverse. Once reverse is selected, theseseable will remain extended when you let it §gou
have difficulty at this point, it may help to tenrpdly bolt the linkage to the gearstick and use th
gearstick to help select reverddake sure to leave the linkage in reverse until thend of step 12.

11. If you have used the gearstick to assist in step
it'll help to unbolt it for this step. Slide theverse
cable up into the top half of the gearstick. Théeh
in the swage at the end of the cable should line
with the slot in top of the gearstick (twist thebt=a
or rotate the gearstick if necessary). Line up
hole in the reverse lever, then push the longéhef
M5 slot screws (the one used in step 4) through
reverse lever, the gearstick, into the reverseec:
swage, and out the other side (fig. 11). This
will line up all the parts and helps to guide tlo#
pin in easily. If the reverse cable does not rex
high enough to insert the pin, re-check step 10.

Figure 11

i

12. Put the pin remover back onto the gearstick, aong the roll pin into the threaded hole, followedthyg
shorter of the two M5 slot screws. Make sure the @the roll pin is lined up with the end of theng
M5 slot screw (fig. 11), then begin screwing itarthe gearstick. If aligned correctly, the rolh puill
push the longer M5 slot screw out of the gearstiskt goes. Continue until the pin is pushed about
1mm BEYOND centre (figure 12). Now unwind the shd slot screw, spin the roll pin remover 180
degrees and push the pin back the other way tungildentred (fig. 13). This will ensure the endtlod
cable is held in the middle of the gearstick, iadtef rubbing against the side (look down the holée
top of the gearstick, you will be able to see thsifion of the cable).

Figure 12 Figure 13

13. Shift into neutral by pushing forward on the linkaghen check that the reverse lever slides up and
down smoothly. Now fasten the reverse cable taydastick with the supplied zip tie.



@ﬁ; www.gofastbits.com.au

== ERERFERS

14. IMPORTANT: Make sure the factory steel sleeve is insertem |
the white bushings of the gearstick clamp — withbig sleeve the
shifter will not operate properly. Line up theeste with the holesi
in the linkage and pass the factory bolt right tiglm, securing itj®8
with the nut (figure 14).

15. At this point you will need to decide how short ywwant the shift
throw to be. This is determined by the heighthaf tlamp on the
gearstick relative to the pivot ball — the highae tclamp, the[s®
shorter the throwNote: the shorter you make the throw, the mg
force will be required to shift, this is normal).

Note that as you slide the clamp up and down, &wral position
of the gearstick will move slightly. When you haselected a#”
suitable position for the clamp, check that you salect all gearg¥
(including reverse) smoothly, making sure the Igdgaoes not hit
the transmission tunnel in®'lgear (see arrow in figure 14
Replace the plastic shrouds in the reverse ordezrobval.

Notes on short shifters — worth a read...

It is a common misconception that short shifters l@rd on synchros, and that premature wear i$ylike
This is not true in the slightest. The only thihgt can possibly cause accelerated synchro obgeavear
is poor shifting technique, or rushing gear changéss possible that having a short shifter magairage
abusive shifting, so the limits of the synchrosidt@lways be observed.

The shifter is merely a lever that transmits moveinte the gearbox. When you shorten the shiftwhio
feels like you are working the ‘box harder, becansee force is required to shift. In actual fabg force
that the gearbox requires to shift gears is exab#ysame — the shifter cannot change that. Howéye
reducing the throw, you also reduce the amounewdrage (or more correctly, mechanical advantdus) t
you have over the gearbox, and therefore you haapply more force to the gearstick to achievestrae
shifting force at the gearbox.

Also note that Subaru themselves have progresssaladytened the shift throw of the WRX significantly
over the years, from about 70mm per gate in thly da¥97 models down to 50mm for the post MYO1
models, and the STi is even shorter again.

So next time someone tells you your synchros waamout because of your shifter, you'll be abls¢bthe
record straight.

Subarus are commonly known for a notchy shift fbat,the good news is the shift quality of your ripex
can be vastly improved by using good quality dihe oil used by Subaru is often cheap and not ,idesl
replacing it with a reputable synthetic (not justadditive) will do wonders for cranky ‘boxes, peutarly
when selecting®lgear or when the oil is cold.

If you would like to shorten the shift throw of yoGFB shifter even further, you can purchase thkalge
clamp separately that brings this kit up to thé 4102 spec, meaning the shift throw can be redumed
another 15%. The part number for this linkage @gas202, contact GFB on +61 (0)2 9534 0099 oriema
sales@qfb.com.afor more info.




